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Addition - 2
1. Add 562350, 27840 and 104005. Write the sum in words.
a) Six lakh forty nine thousand one hundred ninety five
b) Six lakh ninety four thousand one hundred ninety five
c) Six lakh ninety four thousand ninety five
d) None of these

2. A pizza company delivered 200503 pizza in the month of January and 199102 pizza in the
month of February. How many pizzas got delivered in both the months?

a) 399506 b) 398605
C) 399605 d) None of these

3. There were 655735 people in a city in the year 2017. 44506 more people started leaving in
the year 2018. What is the population of the city in 2018?

a) 700141 b) 700241
C) 700142 d) None of these

4. The difference between two numbers is 75823. If the small number is 215000. What is the
large number?

a) 290823 b) 290328
C) 280823 d) None of these

5. In a state election 589246 valid votes were given to different candidates and 3769 votes
were considered as invalid. How many people gave their vote?

a) 593150 b) 593015
c) 593510 d) 593105

6. Fill in the boxes
5 8B 9 6
+ | Al 3 9 6 2
3 4 7 Cl 4

a) A=4, B=6, C=3 b) A=2, B=6, C=2
C) A=2, B=6, C=3 d) None of these
7. 60 thousands + 40 thousands = Lakh
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a) 2 Lakh

1 Lakh

C) 3 Lakh d) None of these

8. The cost of a motor bike is ¥ 265823. The cost of a car is ¥ 132650 more than the bike.
What is the total cost of car and motor bike?

a) % 664926 b) % 664629

C) % 664296 d) None of these
9. 6 tens + 7 thousands = tens

a) 706 b) 606

o)) 506 d) 406

10. 504500 - = 504000

a) 450 b) 500

C) 550 d) None of these
11.45+45+45+45+45+45+45+45+45+45 =

a) 4500 b) 5400

o)) 5500 d) 450

12. Last year a farmer produced 476196 kg of rice. This year rice production decreased to
345650 kg. What is the total production of rice in both the years?

a) 821845 kg b) 881246 kg
o)) 821846 kg d) 821468 kg

13. In an election, candidate X got 56231 votes more than candidate Y. If candidate Y got
165728 votes, then how many votes candidate X got?

a) 221599 b) 212955

C) 221959 d) 122959

14. Find the sum of the place value of 4 and 5 in 350429.

a) 50400 b) 40500

c) 90400 d) 30400

15. One less than 101001 is added to four more than 996. What will be the resultant number?
a) 102002 b) 102000

o)) 103000 d) 101996
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